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OFSMYD| B2A &X 2 2220 NS (Z=0IE 99,240 0 99,240
Ol &)
[ 29,772
2 69,468
201 LBt22y| 10,240 0 10,240
= 3,072
2 7.168
01 A2l 10,240 0 10,240
O=2cl=H us AAl 10,240,000 10,240
= 3,072
2 7.168
401 AlEHIZL S0 89,000 0 89,000
[ 26,700
2 62,300
01 Al&H] 89,000 0 89,000
OMSBEE 2HXITI| &3
22,000, 00021%274 A 44,000
= 13,200
2 30,800
onee sulorg &x
15,000, 00024*37H A 45,000
[ 13,500
2 31,500
Zakel HEE sUotg & 20,000 0 20,000
= 20,000
401 A& HI LSO 20,000 0 20,000
= 20,000
01 Al&H] 20,000 0 20,000
O=4l2] HEE SUHIo0IE &X
20,000,000 20,000
= 20,000
AEHHD| 2242 4,262,334 3,548,271 714,063
2 12,400
= 12,400
2 4,237,534
AEMY | 2 4,262,334 3,548,271 714,063
2 12,400
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2A:
X{XH -
o /e

ek

f

24| 4 Dt
HoI222)
BYD| e

0z 0z
ot

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
- 12,400
= 4,237,534
MEMY] 2T 1,130,899 883,625 247,274
101 I2AH] 338,074 264,702 73,372
04 JH2Z2XEES 338,074 264,702 73,372
OSHAIIX BA 247,164
0122 78,8802 %801%2622! 165,333
(ESE= 78.,88024x801%522 32,815
0tz EE 78,880%801x112! 6,942
0El=2 2,000,0008!+89! 16,000
o=eleis 221,090,00024%4. 5% 9,950
0HALEZ 221,090,0002!*3.545% 7,838
0 |QUEE R 7,838,0002%12.81% 1,005
onEREE 221,090,00024*1.75% 3,870
OATHEE 2 221,090, 0002 * 1% 2,211
0OIMEZ(QIMG S) 2
150,0002*821%13] 1,200
OBI&ED| SHats =T 2H X 15,69
= 78,88021%401x36L 11,359
0=xt 2 FAxtaed 78.88091%401x72! 2,209
0201012 13,567, 3602 *4. 5% 611
(=Rl 13,567, 3602 *3.545% 481
0Z)|QuEsE 480,96021%12.81% 62
EEET 13,567,360 % 1.75% 238
SN=ETE 13,567,360 2 * 1% 136
0OIMEZ(QIMG S) 2
150, 0002 %401 600
Of2ts FQRZK| FH MeMyd| 2 1y
283 &) 75,214
oz 102, 5502 *401% 132 54,147
0FXt=+g 102,550 x421+2724 11,076
0 RRBEIIY 102,5502 %4015 2,051
0201013 65,221,800 %4 . 5% 2,935
0HALER 65.,221,80021%3.545% 2,313
0ZI QLS 2,312, 1102%12.81% 297
0nNELE2 65,221,8002*1.75% 1,142
ATHEE E 65,221,8002* 1% 653
0QIMEE(0tMS S) Y
150,000 x401%13] 600
201 LBty 14,910 14,428 482
01 AFR2Hel| 14,910 14,428 482
OFAUSTAHEAILA) TS| 14,910
082222 1=7e 12,710
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2A:

o

2t

ME: MBI |2 22
Chel: MEtMyD| 2e| CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
oFAE 50,00021*3121x27K 3,100
ogst= 60,00024*3121x 17K 1,860
029 50,00024%3101% 174 1,550
0 OHM 3} 70,0002 %3101%2J4 4,340
0oHME 10,0002 %3121%2JH 620
0 OHE )| 20,00024%3101%27H 1,240
0AZLFZRR [=7¢ 1,600
o &= 100,000 %421x274 800
ofelyaicl 70,0002 %4 21%20K 560
00N 10,00024*401%2JH 80
0 OHE )| 20,00021x401+20H 160
SEHDISESHIE 22X T2t
150,000 %401 600
206 X2H] 261,415 275,995 14,580
01 X224l 261,415 275,995 14,580
OSAlg M2 7(12021H)
50,0002 % 100H 5,000
OMYD| ZLHES HIEZ 249,100
0L EH=2(321E) 3021%20, 0000H 600
0LerE(521H) 362150, 0000H 1,800
02 BrE(1021E) 442150, 0000H 2,200
02 B2 (1021E) (RHALR)
4821%150,0000K 7,200
0L BHZ (2021 E1) 66:21*50, 0000H 3,300
02 EHE (2021E) (KHALR)
67:24%300, 0000H 20,100
0Bt (5021E) 14324%150, 000 0K 21,450
0L Bt (202IE/0HTH) 530=2!%10, 0000H 5,300
0L Bt (502IE10HTH) 600! *300, 0000H 180,000
0=33E(502I) 14321%50, 0000} 7,150
OSAISMY )| ELRHIZE S HIE 7.315
0SAISMDIZ2E(32IH)
2921%10,0000H 290
0SAISMYDIZ2E(52IE)
4021%25,0000H 1,000
0SAIZSMII=ZE(1021H)
5521%25,0000H 1,375
0SAISMYD| HRES
3124%150, 000H 4,650
301 YBHEXZ 10,500 10,500
14 J|EtRALZ 10,500 10,500 0
OMEEE +32A2 ¢ &2
35,000,000 *30% 10,500
405 KHorE S| 506,000 318,000 188,000
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2A:
X ZH
e

f

24| 4 Dt
HoI222)
BYD| e

0z 0z
ot

SA - FB . EI(EH) - HRAY - BES ol &k Gl lmE=T
NIBEIEEEET 506,000 318,000 188,000
OMEMI| ST 2 500,000

OHEHDIZ +H JtEA
200,000, 0002 *1CH 200,000
OHIE S S8t 242 L gueEA
150,000, 0002 *2CH 300,000
OHIIEME =1 2&D| RAEH 7L
6,000,00021% 14 6,000

HIIZ2ZXelALE2Y 1,945,599 1,546,666 398,933
101 I2AH] 426,534 274,835 151,699
BN EEES 426,534 274,835 151,699
OMEE Mgz g 247,106

0l=a 78,88021*801 %2622 165,333
0F Rttt 78,8802 x801%522 32,815
0 XIR2EIY 78,88021+801x 152 9,466
020143 198,147,000 %4 . 5% 8,917
0HABEE 198, 147,00024*3.545% 7,025
0Z)|QuEsE 7,025,000 %12.81% 900
EEET 198,147 0002 *1.75% 3,468
0ATHEE 2 198, 147,000 * 1% 1,982
0El=2 2,000, 0008189 16,000
OHE=MY I OIMS U otNEE o
150,0002 %821 1,200
Oz J|H2ele 36,237
== 93,5502 101%2622 24,511
0F Rt 93,5502 % 101x52 4,865
0 R RE 4L 93,55021%101% 152 1,404
0201013 29,375,000 %4 . 5% 1,322
0AHUBE2 29,375,0002+3.545% 1,042
0Z|QUBE2 1,042,00021%12.81% 134
0nELE2 29,375,0002*1.75% 515
ISIEER 29,375,000 1% 204
EESE= 2,000,0002* 10! 2,000
00t& 5t U OHMEE el
150,000 % 10! 150
SZEHIISESHEIAL FpZAIRY 30,742
0olea 78,88091%101x0622 20,667
ES =] 78,8802 1 Q1x52 4,102
0RIRBEINY 78,8802101x 15 1,184
0= 24,769,000 %4 . 5% 1,115
(=Rl 24,769, 0002 *3.545% 879
0Z)|QuEsE 879,00024+12.81% 113
onEREE 24,769,0002*1.75% 434
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A BERMD
ME: MBI |2 22
G| AMEMy D] 22| (CHel: %2l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
SEEE 24,769,0002* 1% 248
051=2 2,000,000&*10! 2,000
OMNBIE F=XY 8ol 16,623
0Jl=z 78,88021%101x 1542 12,148
094Xt Y =xpet 78,8302 %101%362 2,840
0201012 14,514,000 *4. 5% 654
(=Rl 14,514,000 %3 545% 515
oo QUEE 2 515,0002412.81% 66
ongsssz 14,514,000 % 1.75% 254
0AHEE 2 14,514,0002 * 1% 146
O=xpl==g ol 30,742
0=z 78,8802 %101x0622 20,667
(ESES=] 78,8302 %101%522 4,102
0t S E Y 78,88021%101% 152 1,184
051=2 2,000,000&*10! 2,000
0201012 24,769,000 +4. 5% 1.115
oHuEE 24,769,0002*3.545% 879
oo QUEE 2 879,0002412.81% 13
onesss 24,769,000 *1.75% 434
AHEE E 24,769, 0002 * 1% 248
Oalgt xz|a 30,742
0=z 78,8302 %101%2622 20,667
(ESES=] 78,8302 *101%522 4,102
(b= == 78,8302 *101% 152 1,184
0512 2,000,000&*10! 2,000
0201012 24,769,000 +4. 5% 1.115
oHABEE 24,769, 0002 *3.545% 879
oo QUEs 2 879,0002412.81% 13
ongss= 24,769,0002*1.75% 434
AHEE E 24,769, 0002 * 1% 248
OMEEdEs 222222 S) oNe
z 7 150, 00024230 8,450
OME ds4 30,892
0olea 78,880@1%101x262 20,667
(ESES=! 78,880 101x52! 4,102
0IRRSEIITY 78,88021%101% 152 1,184
05182 2,000,000&19! 2,000
0=20142 24,769,0002+4 . 5% 1,115
0HABEE 24,769,0002%3.545% 879
0| QURE2 879,00024*12.81% 113
ongsss 24,769,000 *1.75% 434
AHHEE 2 24,769,000 1% 248
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SN SEAM
HIM: M |I222
Tl ABMY(D| 2te) (Crof: M2l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
0N EE(oHN3t £) P2
150,000 % 10! 150
201 L2 A 1,033,805 844,199 189,606
01 AF222IHI 138,424 107,485 30,939
OLts=2Y] 108,239
0J|EF=H] 1,000,0002/ %13 1,000
0POIAHIAIAE 42 8,400
oM&Egal 350,000 %122 4,200
o DHE & 350,000 % 12 4,200
oHERMAER 2 16,200
ozgl| 24 2,000,000 %43] 8,000
OUEHEY FaM Y
1,5002%5, 000kg 7,500
ot E F& 70,000 =104 700
QFD|oHE 22 TS =42 (D)
200,000 %12 2,400
ODHRE BARESB(SE AL 16,560
oEELAS 450,000 %4 A %43 7,200
oEELYRS 450,000 %123 5,400
o XIgt=ZAE
200,000 * 44 A*43] 3,200
0 S SHHHIAI A 190,000 *43] 760
OA2EZ0HE BAESS(SEAA S) 57,679
0EELRL 450,000 %2I4 A*43] 3,600
o XIgt=ZAE
200, 00024 +2I4 A 123] 4,800
o HHEItA 200,65021%274 2 402
0EYRAT(ULHER)
1,300, 20024 %24 A4 K| E 10,402
0 EAQAET(LI0|=)
2,000,0002 *2JH A*4X| & 16,000
o KIBHOHEE AL 2,475,000 %13 2,475
ONBRE20HYE FTHSHASEAL =4
2(=2l) 20,000,000 * 14! 20,000
0EARE 1Y 350,0002+63) 2,100
OAE2YE SER(IIA 5)
10,0002 %105+ 153 1,500
OMHIZEEIHEIE SAUSERYU(LEJAS
) 80,0002 x65+53] 2,400
OSHB2E MYEHBHI(SY S)
60,00024%3101%13] 1,860
OSH(BBAILURER)
8,000 *401%80A! 2,560
OSATRE U JZHHZ2X W2 HES
2 g 100,0002%201x53] 1,000
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SN SEAM
HIM: M |I222
Tl ABMY(D| 2te) (crel: 22l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OsFZ22 2 JIIN22X =240 1S
gl 5,000 %4301 215
OMBZ=ZHDI2SE eI =Ysd =
8 600,000 %13 600
O3EXtHE 7Y &sh| 250,0002/%33] 750
OsZHIISSEHIE ABSEI}
5,000,0002* 14! 5,000
Orlg2d 22, JiA 1Y 4,200
02Z PYUHI(EDIR S)
200,000 %124 2,400
0Jt& FEH| 150,0002 * 1202 1,800
OsZHIISSEHEIAA ofF gl 227
E 500,00024%123] 6,000
ODNBIZ BHRl ASMY | HAZA
2,000,0002 %43 8,000
02 2229 895,381 736,714 158,667
02020 HIISHESSZ(MEHIIS) 147,500
WEpsE= 15,00027, 100E 106,500
042AXE 10,0002*4, 100 41,000
oFIIe=2 44,256
OSZHIISEE HEIAL (I E)
3,500,000 * 122 42,000
0JHH A2 EZ0HEHE 18,0002 12 216
02l ARE20HEE 170,0002* 122 2,040
@I 396,090
0=SCh 1,650 %9702 E{* 15CH+ 12 288,090
T2 600,000 % 15CH* 122 108,000
Oz41| 16,185
sl 1,6502+5752 | E{* 122 11,385
02X 24H] 200,000 %2CH+ 122 4,800
OXIHIXH 3,450
== 1,65024 %532 E{+ 122 1,050
S E2H] 100,000 *2CH* 122 2,400
OFERa 4,800
OOHEI&H 400,0002 %12 4,800
OSAIZ2MY )| QEtY2| 248 228,000
02AISMY | QEtHRI
190,000 %1, 200 228,000
OAIZAIE MK 450,000 % 122 5,400
OZELHINE HI| AL
4,300,000 %43 17,200
OMEB2HHAIA J|IHE AR 44
2,500,0002*43] 10,000
SEHIISHIAIA AR AlZE4H
2,500,000 x43] 10,000
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SN SEAM
HIM: M |I222
Chel: MEtMyD| 2e| CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SZEHDISSEXUE A2 22l L Al
XA R 2,500, 00021*3CH 7,500
OsZHIISESH2IAL 1S U2 HA
g9 5,000,0002* 13 5,000
202 04H| 13,040 12,320 720
01 2UH0H 13,040 12,320 720
OSHAL AR 43
200,000 %401 122 9,600
OEIZAIE IR
100,00024x201% 102 2,000
OBZEZRE A 22|H2EZ
30, 0004201x243] 1,440
206 THEH] 247,065 259,657 A12,592
01 x24I 247,065 259,657 A12,592
ONYEZ=HIY e 28 7Y 12,240
03K 1,6502%9442|E{+7 2 10,904
WEES 1,75024% 1092/ Ef 72 1,33
OMHIZEEH2IZE EE4Te A=Y 88,585
W=RIE 12,6004%2,0002/ & 25,200
=2 130&/%350, 0002/ E 45,500
0JHE AL 16,6002/ +50S 830
Ogior= 22,5502 %1002 E 2,255
QCHEIAAHILRHE 37,0002 %4002 £ 14,800
OMHIZEEH2IE 2F BE 7Y 129,990
o=y ol 34,000,000 %37} 102,000
0IIERIXIZEH 7,200 %2, 0004 14,400
OpH &l Af 1,000,000 %2H 2,000
OHIOITHA HE WA 1,000,000 *1CH 1,000
0FHIINME EBADE
3,000,000 1CH 3,000
R 2= BX 2,000,000 *1CH 2,000
0=t 82 B 1,840,000 1CH 1,840
0ZE24(R/0)HMEIANE 2" 2Z71¢
250,000 %5533 3,750
ONEZ HE2E 2201 2
6,5002%2, 5000K 16,250
401 AlEHI L2 0HH 225,155 126,155 99,000
01 Al&H] 225,155 126,155 99,000
oral=1=Ea] 70,000
ODHEIE XiAlA 213224
40,000,000 * 14! 40,000
ODHEIR 2 EE4HEIAL 21227
30,000,000 %14l 30,000
Ollgig =SE1 28 Ax2
650,000 *3CH*63] 11,700
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AN AN
M MEHD |22
CHR: MSMYT| 22| (ciol: 7Sl
SA - B O9(SH) - ARAIY - BAS O bt Gl HIDS2
O M=22 Zag =1 2
14,8502 *300m 4,455
OsZHII2Z8HE S =&Y
8,000,00024%43] 82,000
ONEHER SHAM L A HY|
18,000, 000& =14 18,000
EHDISSEXMIALE )| & SSA
ﬁ WHIAS 18,000,000 % 1Al 18,000
OHIIEHE 22&A 22X HUISBA
18,000,00024%14} 18,000
OJMH AN EZSZ0HEE Kok (4) 2™HSA
19,000, 000 * 14! 19,000
SEHIISTEXMAUE FUHAY S S5 BF
oAS 15,000, 00024 14! 15,000
SZEHIISZEXMIAE S HYSAK
3-2¢h) A=Y 19,000,000 % 14! 19,000
SEHHIY =HE4S 62,000 62,000 0
= 12,400
& 12,400
= 37,200
301 LEEBHZ 62,000 62,000 0
= 12,400
= 12,400
= 37,200
14 J|Et2 A3 62,000 62,000 0
sEHHIY =243
100 & +620,000kg 62,000
= 12,400
= 12,400
= 37,200
A2AE 29 1,123,836 1,008,478 120,358
101 l24b| 483,765 464,989 18,776
04 J1ZtMIZ22 XS 483,765 464,989 18,776
OL2ANE & ZA o1 483,765
0olE= 93,5502 x801x347 259,695
O=xt==g 93,55021%801x5221 38,917
0RE+< 50,0002 +801x 122 4,800
0=
11,690 *821x 16 Al 2++ 122 *150% 26,934
o024
11,6903 *821+80 Al 2t 122 *50% 44,890
((SpNE=D) S =, 03,550R1%801x 15 11,226
03§L22+Y
93,5503 *821x 19 *250% 35,549
0=22143 298,611,600 4. 5% 13,438
e st 1 298,611,6002%3.545% 10,586

- 629 -




SN B
HE: MEHD S22
G| AMEMy D] 22| (Ctol: ®M2l)
- . _ X Ls
SA - B - G9(3H) - MSAY - BAS Ofl Akt L o MimEE)
SRR 10,585, 78024 12.81% 1,357
nESEE 298,611,60024%1.75% 5,226
OAMTHEE = 208,611,600 %1% 2,987
(SRS = 3,000,000 %80! 24,000
0AUAIA 22X OHE3E L OHMEE o)
200,000 *801%23] 3,200
0AUAIA 22K SELHAAEA
80,0004 120! 960
201 LB A 370,376 438,234 A67,858
01 AFR22 2| 170,020 226,840 156,820
OA2IAIAE CHOIAI 2AH
5,000, 00024*13] 5,000
OFD|HEBIZ| as42
600,000+ 122 7,200
OAZAIL HISIHA TIIER 42
10,000, 00024 *43| 40,000
OHYEA HEBAIZZHA
250,000 *13] 250
OHZEU A2 9,000, 0002413 9,000
Ostamogs2 900,00024%13] 900
OHIAH QIEFM2|H] 7,000,000 *63] 42,000
OHIAHY 22 =0H0H 6,0002*5000H 3,000
OZYWaD| AHY HA
2,000,0002 20 *23] 8,000
OA2AIE ZIINED| A2
40,0002 *4CH+ 122 1,920
OMHID| HE T2z 46
5,000, 00024*13] 5,000
OA2UAN @EHEIAE HA
2,000,00024*13] 2,000
OAZAE ESSHEE HA
1,500,0002413] 1,500
OA2UAY 28 22 Q9
1,000,000 *63] 6,000
OA2AME JIHBE APRLD 24
2,500,000 %43 10,000
OAZAIE 22X MIE=E 20
800,000 * 123 9,600
OFp=eE 2HS=E 9
1,000,000 %43 4,000
OB SOFMBR|XF DS
50,00024*13] 50
OAZAIE 22X g=2= 20 6,600
og=s0tAT 2 150,000 % 120! 1,800
0Y=0IAT FHelE ¢
100,0002* 1201 %43 4,800
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SA: B
M MEH)|22e
C9: MEMYD| 2Ae) (chel: M)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
OsZHDISEEHIZ (A2 el HD|
£ S 24 ,000,0002*43] 8,000
02 2Z2%Y| 200,356 211,394 A11,038
OA2AL &R 11,000,0002* 128 132,000
OA2AIA HA2H|
1,90021%1,5002|E{*4 2 11,400
OXIAHZ 2el 12,456
S20 1,65021%232| B4+ 122 456
SYNIEEST] 2,000,000 1CH*62 12,000
OA&E IR 38,500
0AMS| BT -0
2,000,000423] 4,000
02IIL=)| AZE WH|
2,000,000 *2CH*43] 16,000
0222 24T nx
1,500,00024+23| 3,000
OEDIZ £2 Aol 22l
1,500,000 %43 6,000
0R015Z)| 42| 1,500,00024 %13 1,500
0=pI=eE ATE W
2,000,0002*43] 8,000
O3 500,000 %122 6,000
206 24| 15,69 17,255 A 1,560
01 2l 15,69 17,255 A 1,560
04222 29 A=l 13,69
O ZHH| 3,200&*600kg 1,920
0AA 11024%9, 000kg*4 3| 3,960
0EHAE 2,30024%1,000kg 2,300
02424 85021%4,000kg 3,400
0EHH 6,000&*300kg 1,800
03ILIER 35021%900kg 315
OA22 FEY 2TH 2
1,000,00024*2H 2,000
401 AlSHIZ 20| 254,000 83,000 171,000
01 Al&H] 254,000 83,000 171,000
OA2AIE 2SE4H]
50,000,0002* 14! 50,000
OA22 312X DHZA
18,000,000 * 14! 18,000
OAAIE SZ MS U BZ)| DHZA
20,000,000 * 14! 20,000
OBZEAY HE BL2A
18,000,000 * 14! 18,000
OAZAIS H4 HIHT LXIZA
28,000,000 * 14! 28,000
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SN BB}
M MBI ISR
9l AEMYD| 2o (crol: 12
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O=xoIs=s |2 2 A2+
20,000,00021% 14! 20,000
OAZLAIA HIZHTH BHZ 210101 A
100,000, 00024*1CH 100,000
INETPUETE] 302,430 409,552 107,122
= 62,723
= 20,020
z 219,687
SlMSFESAL o AZorE B 180,830 287,952 107,122
= 1,923
= 730
z 178,177
BV EETIPNE-TESETE] 156,043 156,043
201 Yer2 | 14,743 14,743 0
01 AFRZ2IH 13,543 13,543 0
ORSAZE 2ANE 227
20,0002+ 15024 3.000
OOfZI0 J|SAIZE 57 HXE F|
10,0002 % 1074 1,000
OBEAMAL 2EHA 242
35,0009+ 1304 4 455
OTEBAL DIMSHA 42 X2
120,00024%500H A 6,000
OAESHY 822 MR
66,0002 *25+43] 528
OEEGICIUIEESS)
8,000 %421x804] 2,560
02 222 1,200 1,200 0
OAZESUY S AZN 22 OHHS 2
SERI3 1,200,0002 1,200
202 01t 10,800 10,800
01 =ULHoib| 10,800 10,800
O MRl 200,000 *401+ 122 9,600
OFMHA NEH
60,0008x201% 102 1,200
301 YBHEHES 10,500 10,500
14 JIEt2 a2 10,500 10,500 0
SHEVAZ ANDAZ
50,0002%29! 100
OZUIBZAM2AAY &S|
50,00021%901+72! 3,150
OAHIRAIZ MR S|
50,0009 1321x92 5,850
OBEAMAA ANST T S|
50,0002 %401+72! 1,400
402 QI2EXH=0(H 120,000 120,000 0
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